Mathematics A LK.No. 13 Paper Code No. 5191 s
Paper | (Objective) $SC-A-2019 Group lIst CAEM | 24
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Note : Four possible cholces A, B, ¢, D to each question are given. Which choice s correct , fill that circle Infront of that question
number. Use marker or pento fill the circles, Cutting or filling two or more circles will result In zero mark In that question.
Which is the order of a Square Matrix : -3 1 S Lo PER! A
3-by-2 (D) 2-by-1 (O 1-.by-2 B) 2-by-2 (A) (1)
The value of T {i m 1 © -1 (B 1 (A) : q...:‘nf g i’ 2)
logm” can be written as — : : .;.ch,u%’-—-)’logm“ 3)
log(mn) (D) nlogm (C) mlogn  (B) (logm)"  (A)
4x + 3y - 2 is an Algebraic : & — GAI L ax + 3y -2] (4)
Inequation ..:,I:L»/-f (D) Equation &b (C) Sentence :/ﬂ (B) Expression M (A)
The factors of a: - 4b? are ; Ut —— QAL dowtl (9
(a2 - 262), (a2 + 2b%) (B) (a-b),(a+b), (a2 + 4b%) (A)
(a-2b) , (a*+2b%) (D) (a-b),(a+b),(a? - 4b%) (O
H.CF. of a%-b? and 3. s ——: - rjﬁ;"( 3.3 a2 -v% (6)
2.ab+b? (D) al+ab+b® (O a+b (B) a-b (A
: q..d:'-«g!’-‘-nfﬁ-z‘c x{% e x = —1 (7)
« = —— is a solution of the inequality -2< X ‘% :
oo © 3 ® -5 @
The Point (-3,-3) lies in the Quadrant : D e ChE B LU (-3,-3) B B
v M m o © n @B I (A
Divtance between the points (1,0)and (0,1)is ——: & ¢ — Loidis € (0,1) o (1,0) s8] ()
2 o 1 © Nz ® o &
P g e L Ll (11 e & Ui i (10)
The symbol used for (1-—1) correspondance between two triangles is :
«— O = © = © — &
Medians of a Triangle are Y, 0, By L ol (11)
Non- Concurrent 45 (/2 (D) Opposite I (C) Concurrent Wi (B) Parallel il (A)
P VN B P RS Lnlats (12)
The right bisectors of the sides of a triangle intersect each other on the Hypotenuse is — triangle :
Right Angled 11,76 (D) Obtuse Angled 2iz# (C) Equilateral Lusigss (B) Acute Angled st vl (A)
Unit of Ratio is : Lot 2y ¥ =’ (13)
No Unit dmf001df (@) em K§% (O Meter X (B) Kg LRI
Similar Figures have —— area : A gan —— A aJeLE i (14)
Same (=fi (D) Perpendicular Lyt (C) Different &% (B) Parallel  (J# (A)
P g 7 90° LilifS % A} (15)

A Quadrilateral having each angle equal to 90° is called
Rhombus uf' (D) Trapezium 335 (C) Parallelogram L uwsui$it# (B) Rectangle Jéw‘ (A)
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Note : It is compulsory to attempt (6 -6) parts each from QNo.2,3and 4. Attempt any (03) questions from Part Il while Q.No.9 Is

g, compuisory. Write same Question Number and its Part Number as given In the question paper.
L Make diagram where necessary. -wa'i)’xd;:/‘ulg—l (Part | ) Lj,i_p ]
. 1 2 4 5 ) P
Find the Product of : -3 0 [ 4k ] -L{/?P.....Afb (i) 24w
6 -1

e fa e Ay A [3A] 4
If A= [ E i] then verify that A + Al is a Symmetric Matrix.
~Ust skl piaia Q%0 p,q,_ﬁq/‘:qwbﬁ % wJ’t/U-g Md;f/‘ (i)

Express the Recurring Decimal 0+5 as the Rational Number %where P.qare integers and 90

-4 - =
Express 6 x 10 in Ordinary Notation. ..’46 o~ ﬂ.'}r'lo S 6x10 4 14 (iv)
Calculate logSS X Iog325 ..4;;1*’;-»3(}’10553 X 103325 {_v)
Express 5 : = in the Standard Form a + bi _g:;u;u: a+bi J’d;ol:-.- S : 321 (vi)
Factorize. Xx(x-1)-y(y-1) -&fffyf(vi}
2 2
Reduce (X% 20X =1) 1 e LowestoFor, e Py A 1)
(x+1)(x°“~4) S ) (x+1)(x"-4)
3 1 . .
If xwz-ﬁ.ﬁnd% -a}?:"‘:-dcf-;m x=2-3 Jf (x
Find the L.CM. of : 39x7y32 P 9‘1)(531627 ..éf.'-?}‘” Siban; ® 34)r
Solve the equation. V2t = Yoz -40’ S ene (i)
1 -
Solve for " x *, '513" g 2f il = g -L{)T’J"’u‘be.’ " x " (iii)

LAl Fincm10 Sl Fe 2CHR2 iy SFuges (V)
The formula of Degree Fahrenheit is given by F = %C +32 , if C =10, then find F.

-éﬁ’u’ch"c" Srmt LI L yemx e S 2x + 3y - 1 -Dgfﬁdrd;(v)
Find the value of " m " and " ¢" of the line 2x + 3y -1 = 0 by expressing in the form
Yy = mx +c
Define Right Angle Triangle. _4{.4/‘7 § &b Hts i)
Find the Mid - Point between (3,-11)and (3,-4). _qFP.siGw € (3,-4) »(3,-11)022L 45 i)
-u_o?}wwd'" x" " m" (}vu;u;':ifu»dfj, (vil)

Find the value of unknown " m " and " x" for the given congruent Triangles,

(5x+5)°
Find the unknowns in the given figure, 75 = -4;}" g{;h?’r)""t derd: (ix)
7 y°
Define Bisector of an Angle. . 'x‘g...al/y'c....lﬂt L ,;Uu‘r (0] 4/'.‘Uir
Write difference between Ratio and Proportion, -L{fc}yf}) BBl o (i)
Define Congruent Triangles. ..g,j):..if/, lf uﬂ"U"b'* (i)

[P.T.0. ]
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a = 16em, b = 30em, ¢ =34 em
Verify that the Triangle having the given measures of sides is Right Angled.
a=16cm, b= 30cm, ¢ = 34 cm
State Congruent Area Axion. -g{/c}k S ¢ u;j‘ﬁ?“ v)
mAB = 4+8cm, mBC = 3+7cm, m 4B = 60° ,J;:'u:’b«ABC afs o (vi)
Construct a Triangle ABC in which mAB = 4+8cm, mBC = 3:7cm, m £ B = 60°

Define the Orthocentre of the Triangle. LI § Dl ads i
LS X ot 2 PIS i)
Find the value of unknown " x " in the given figure.
X 13 cm
5 cm
Find the Area of given figure. 8 em -ujzlrf)” 2 ¥ (_Pdfd: (ix)

(Part Il )eno

(4) Solve by Cramer's Rule N2 =-6 U S o) S (L 55
5x- 2y =-10 '
() Simplify (2037 /3 (3277175 @ ()
J(196)2
(4) Use Log table to find the value of : “tf )}P;«Z & L!Juy(’;f:’ () 6/‘.; Ui
0:678 x 9. 01
0.0234

(4) -QJ?PJJ ab + be + ca }.na +b2+c =24J:Ia+b+c-6/(...)
If a+b+c¢ =6 and a2+ b2+c2=24 then find the value of ab + bc + ca

) 3 - 6x + 3x + 10 _q;:fyﬁﬂ.":&/d»‘fﬁé.x_uud;ip () '7/.}dlr
Factorize the given Cubic Polynomial by factor theorem X - 6x% + 3x + 10
@ - 4+ 25 - 12x - 203 + 16xF L Bk i ()

Use Division Method to find the Square Root of the Expression.

4+ 25x% - 12x - 24x° + 16x%
(4) Solve the Equation. \lx A Jx +2 = |6x + 13 - u‘/sf Ll,p (i) 8/.‘.Ulr
@) be-’u.q.r ot U Lot o b ABC als 69

mCA = 5.2cm » mBC = 3.1cm , mAB = 4. 5cm
Construct the Triangle ABC. Draw the Bisector of their angles.
mCA = 5.2cm » mBC = 3.1cm , mAB = 4.5cm

(8) ..fn.bﬁlld;l/c..u.&/éﬁagﬁ u;ﬂdb{d’td)rféb.’gf(ﬁ—g A u_'/uu:f.t' 9 A1y
Prove that any point on the right bisector of a line segment Is equldistant from Its end point.
OR W
LEAL D &) unlhienl B EHAPLS BB 2 JOIL W17 Cy sl §fl S St
-Ju:uf.cuﬁ,?.r 03 (Unsls

Prove that Parallelograms on the same base and between the same parallel

lines (or of the same altitude) are equal in area.
Aod b e
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Note : Four possible choices A,B,C,D to each question are given. Which cholce Is correct, fill that circle Infront of that question
number. Use marker or pento fill the circles, Cutting or filling two or more circles will result in zero mark In that question.

Product of [x y][_?] is

[x+2y] © [2x-y] © [x-2v] ® [2x+y] &

P ekl [ x y][_i] Sl 120

(1)

Real Part of 2ab(i + iz) is : q..--——..#;}? ¥ 2ab (i + 12)/‘1;?{ (2)
-2abi (D) 2abi (C) -2ab (B) 2ab (A)
logp - logq is same as —— = logp - logqi (3)
log (g) () ::;z © log(p-q) () log()
(3+E)(3-\rz—)isequaltu-—-: :-—-—.;_._,.gl_;(3+,['2—)(3-ﬁ) 4)
1 O -1 © -7 B 7 (A .
| The factors of o ab? are g\ ot ez Lot (5)
(a2 =2b2), (a2 + 26%) (B) (a-b), (a +b),(a> +4b%) (A)
(a-2b),(a%+2b%) (D) (a-b), (a+b),(a-4b%) (©
| D — LB W B el | ()
.What should be added to complete the Square of )(4 + 64 —
&% D) 16 (© -8 (B 8 (A)
D e O e Lfpendide it <> S L2 BP0l ()
! A Statement involving any of the Symbols < ,> , & or 3 is called —:
Linear Equation =it (D) Inequality lsss? (C) identity sawndfed 12 ln 1Ll (B) Equation bl (A)
Point (-3,-3) lies in the Quadrant ' D e LB LU (-3,-3) B (8)
v (O n (© m (B I (A
Mid - Point of the Points (-2, 2) and (2,-2) is — : @ & —0n¥ (2,-2) #(-2,2) 48] (9)
(1,1) (MO (0,0) (C (-2,-2) (B) (2,2) (A)
Two Parallel Lines intersect at point. : S & 4 A —— B i (10)
Zero * (D)Three £ (C) Two » (B) One i (A)
C et Lo s i 36 L n Lok (12)
The line segment joining the mid - points of two sides of a Triangle is to the third side :
Perpendicular ¥ (D) Non - Parallel $i#Z (C) Parallel (/7 (B) Equal 4l (A)
The Bisectors of the angles of a Triangle are —— : t B —airt L gyt lals (12)
I Bisector i#t (D) Concurrent i (C) Perpendicular Ly (B) Parallel (il7 (A)
{ Symbol used for Similarity is : - : q.J.rr Jwremp 2L w5 (13)
= O ¢« © = (B ~ &
The Diagonals of a Parallelogram —— eachother : r S S < okl 7 Z L ! (14)
None of these L0/ 2el (D) Bisect at Right Angle i (C) Trisect &£ (B) Bisect i (A)
G R i R R st B3 (18}




-g“’/’é‘z-f—cf - /9

(2014-2016) to (2018 - 20) u’-’ S.S.C.(Part-1) 3;.?.7: 14 - 56220 E /‘Uu
Mathematics  Subjective) | 60: AF Z2:10 2  SSC-A-2019 280 (L
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Note : It is compulsory to attempt(6-6) parts
compulsory. Write same Question Number

sach from Q.No.2,3and 4. Attempt any {03) questions from Part liwhile Q.No 3 Is
and its Part Number as given in the question paper.

36=2x18 | Make diagram where necessary. -gf’hd':f:rd«uﬂlﬁ i

Define Scalar Matrix with example.

e [0

Simplify.

-3

4 4
6 2

b-1

a+3
-6

[

Simplify in the form of a *+ bi.
Express in Ordinary Notation.

Find the value of "x " , when

Reduce to the Lowest form .

l Simplify.

Factorize.
Find L.C.M. of the given Expression.
Solve for "x":

Solve the Equation.

Define the Cartesian Plane.

Find the value of
form y = mx +¢

A(9

Define the H.S. Postulate.

In the given Congruent Triangles

then find mfﬁ i

ietS v |

Llsx+2|-4= 1

“m" and * ¢" of the given line x -2y

Find the Distance of the given pair of points, A{--B,l],B(G,i]-Q)?P_J-Liuyu
,2), B(7,2) LRl € B & Uil s & (vii)

Find the Mid - Point of the Line Segment joining eachother of the given pair of points. A(9,2).B(7,2)

One Angle of a Parallelogram is 130°. Find the measure of
g S §* mt " xS LNO Mo bt Sds o 4AUr
LMO and LNO, find the unknown " x" and " m"

- w— i —
s mLQ =2+3cm ,mLP = 2.5¢m, mLM

In Triangle LMN shown in figure MN || PQ if miM =

(Partl) Jso
-4(51;¢J&_Q} § Sl @ 2y

HER R

a+3
6

4
b-1

] then find "a" and "b".

4 I 81 y-ux-a

(-7 +.31) (-3 + 2i)

) 4’;; (i)
LS a b

9.018 x 10°° -zgutri}rb )
log , X = 5 .?éé}"}z&/"x'(vi)
(x +y)% - axy e P V)
(x - y)?
G5 S alia (i)
a3
X2 + 5% - 36 LSE
39xy3z . a1y S LeM Y BLL © 34y

.yl v @)
IS S e (i)
gSwf & $EEK )

Bx -7 —yx+10 =0

-Q&P&EJ“ " ol "m" RLLSE Sy = mx te f x-2y=-2 el ®

= .2 by expressing in the
Luin & Lﬁéé—) (vi)
gIp § arrlin o

-Lz)'pbwm!ug,uég&w? ¥ 130° il ¥ LueuigHPEl (ix)

its remaining angles.

L
2x + 6 18
M il o s N
- sem Ji -¢ MN|| PQ £ LMN & S0 )
.Q}E‘:"’JUJmm
SCm,mﬁ- 2-5cm,mL_d- 2+3 cm
L
P Q
M N
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If 10cm,6cm and 8 cm are the lengths of a triangle then verify that sum of
measure of two sides of a Triangle is greater than the third side.
a=9em, b =12cm,c = 15em ¢ M2 &l , S /G A pEGHUpIS LIl ot )
Verify that the Triangle having the following measures of sides are Right Angled.
a=9m, b = 12cm,c = 15em

Ll § o x et Pl )
Find the unknown value of " x" in the given figure,

6 cm 10 cm
X
Define the Interior of a Triangle, IV S st £ st (vi)
Define Altitude of a Triangle. LI S L £ s (vii)
Find the Area of Rectangle from given figure, -Qf(:l" 5 K J?" :.m: (viii)
H 3em
6cm

mAB = 3cm, mAC = 3. 2cm, mZA = 45° L S ABC alt (ix)
Construct a Triangle ABC in which mAB = 3cm, mAC = 3. 2em ,mzA = 45°

(Part 1) e
0 "3"; :Y :?1 ..:{J;.u Jule £ £ 1 ilghaue i () 54,
Solve the system of Linear Equations by using Cramer's Rule. 4;;. 2; : _8 1
@ ¥ z-= 4——'_-2—1 then calculate Z-Z JF-J"»-I’J Z-Z i 7= +i: P ()
(4) Simplify with the help of Log Table. -4//‘? &k stqﬁﬂ () 64
(8-97)% x (3-95)
15.37
@ é_;fFJVJJa+b4-c?xab+bc+ca—3 s a2+ b2+ 2 =43f(..¢)
If a*+ 8%+ c® = 43 and ab + b + ca = 3, then find the value of a +b +c
(4) Factorize by Factor Theorem. xS - 4x2 +x+6 -@?)‘“ ¢ f = uL.( g /{.1’«' () 7/.*U
(4) Find the Square Root by using Division Method : ..q_'/‘r‘)“’ &l (.{;_u}, ()
4+ 25 12x- 2% + 1658
(4) Solve the given equation. ‘%”‘ ‘% X=X * % ..g,f/J ' .;-..I,VJJTU: () 84
(4) Construct Triangle PQR and draw its Altitudes. (U@L /1 b POR .t )
mPQ =6cm 1 mQR = 4:5cm ' mPR = 5+5 em
) LA At AL LUl st .r"{...-e 9,4
Prove that the right bisectors of the sides of a triangle are concurrent.
OR

-0l 3 SO Bitete it By 4 Usibide Sp St
Prove that Parallelogram on the equal bases and having the same (or equal )

altitude are equal in area.
i & A T .



